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(1)2NH,+ H,0 + SO,=—= 2NH}+ SO
% 2NH,-H,0 + S0,——=2NH+ SO07 + H,0  HSO;
(2)ZnS0,
ZnS0,+80,+ H,0 == Zn*'+ 2HSO;
8% Zn0 + 250,+ H,0 Zn** + 2HSO;
(3) B#F pH FRA%, HSO; Rk s/
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(1)ClL+ 20H == €J0"+ CI"+ H,0
NaClO ¥ i < Y €O, JR 72 HCI10 , HC10 WG4 i
(2)Dn(8,08 = 0.1000 mol -L™'x 0.02000 L = 2.000 x 10~ mol
FEL A4 R e e A 148 R SR B £ €N, 0, €15 ~ 2HCIO ~21, ~ 48,07
4 n(Cl) = 0.50(S,03) = 1.000 x 10 mol
FoTHEM R .
m(Cl) = 1.000 x 10" mol x 35.5 g-mol™' = 0.03550 g
R 0.03550 o
R i AT RN 2 x2 % 100% = 63.39%
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(1)AB  (2)H, B35, 1o oA hn Lk KSCN %, WEEH R (0 2 75 2 4T
(3) pH fRAEIE K HF , B 80H00P F R BEW/ ), CaF, DUREANSE 22



(4)DFe™ + HCO;+ NH,-H,0 FeCO, | + NHj+ H,0
5 Fe’ + HCO;+ NH,=——= FeCO, | + NH;
@TESEHE T 1] FeSO, M0 H 2248 i A & /K —-NH, HCO, IR & W, #2618 W pH A KT
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(1)HCO;+ H,= ™ 10007+ H,0
{0 T v SO 3 3R Tl Ty A A 9 306 1 o

(2)MHCOO + 20H - 2¢” HCO;+ H,0 H,S0,
@2HCOOH + 20H + 0, 2HCO;+ 2H,0 3% 2HCOO + 0,—= 2HCO;
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